SOME QUADRATURE FORMULAS BASED ON LINEAR AND POSITIVE OPERATORS

DAN BĂRBOSU ¹, OVIDIU T. POP ², DAN MICLĂUŞ ³

^{1,3} North University of Baia Mare, Victoriei 76, 430122 Baia Mare, Romania, e-mail: ¹ barbosudan@yahoo.com, ³ danmiclausrz@yahoo.com

² National College "Mihai Eminescu", Mihai Eminescu Street, 440014 Satu Mare, Romania, e-mail: ovidiutiberiu@yahoo.com

Abstract: The paper is a survey concerning quadrature formulas obtained by using linear and positive operators. We recall here the Bernstein quadrature formula, the Schurer quadrature formula, the Stancu quadrature formula and the Schurer-Stancu quadrature formula. We present also some new results regarding the composite quadrature formula of Bernstein type.

Keywords: Bernstein operator, Schurer operator, Stancu operator, Schurer-Stancu operator, Bernstein quadrature formula, Schurer quadrature formula, Stancu quadrature formula, Schurer-Stancu quadrature formula, composite quadrature formula

2000 Mathematics subject classification: 65D32, 41A10

1 The linear and positive operators used

In this section we recall the linear and positive operators used for the construction of the quadrature formulas which we shall present.

First, let us to denote $\mathbb{N} = \{1, 2, \ldots\}$ and $\mathbb{N}_0 = \mathbb{N} \cup \{0\}$. Next, let $p \in \mathbb{N}_0$ be given and let α , β be real parameters satisfying the condition $0 \le \alpha \le \beta$.

The Schurer-Stancu's operator is defined [2] for any $n \in \mathbb{N}$, any $f \in C([0, 1+p])$ and any $x \in [0, 1]$ by:

$$\left(\tilde{S}_{n,p}^{(\alpha,\beta)}f\right)(x) = \sum_{k=0}^{n+p} \tilde{p}_{n,k}(x)f\left(\frac{k+\alpha}{n+\beta}\right) \tag{1}$$

where

$$\tilde{p}_{n,k}(x) = \binom{n+p}{k} x^k (1-x)^{n+p-k} \tag{2}$$

are the fundamental Schurer's polynomials.

Many approximation properties of the operator (1) can be found in the monograph [4] and the references therein.

Note that for $\alpha = \beta = 0$ and $p \in \mathbb{N}_0$, the operator (1) is the Schurer operator [9] defined by:

$$\left(\tilde{B}_{n,p}f\right)(x) = \sum_{k=0}^{n+p} \tilde{p}_{n,k}(x)f\left(\frac{k}{n}\right). \tag{3}$$

Paper presented at The VII-th International Conference on Nolinear Analysis and Applied Mathematics (ICNAAM), Târgoviște, 26-27 june, 2009

For p = 0 the operator (1) reduces to the Stancu's operator [12], defined by:

$$\left(S_n^{(\alpha,\beta)}f\right)(x) = \sum_{k=0}^n p_{n,k}(x)f\left(\frac{k+\alpha}{n+\beta}\right) \tag{4}$$

where

$$p_{n,k}(x) = \binom{n}{k} x^k (1-x)^{n-k}$$
 (5)

are the fundamental Bernstein's polynomials.

For $\alpha = \beta = 0$ and p = 0, one arrives to the classical Bernstein operator [7] defined by:

$$(B_n f)(x) = \sum_{k=0}^n p_{n,k}(x) f\left(\frac{k}{n}\right).$$
 (6)

Using the operator (1), for any $f \in C([0, 1+p])$ one arrives to the following approximation formula:

$$f = \tilde{S}_{n,p}^{(\alpha,\beta)} f + \tilde{R}_{n,p}^{(\alpha,\beta)} f \tag{7}$$

where $\tilde{R}_{n,p}^{(\alpha,\beta)}f$ denotes the remainder term.

Following the Stancu's ideas [10], [11], [12], [13], in [4] was proved:

Theorem 1.1. For any $f \in C([0,1+p])$ and any $x \in [0,1]$, the remainder term of (7) can be represented under the form:

$$\left(\tilde{R}_{n,p}^{(\alpha,\beta)}f\right)(x) = \frac{1}{n+\beta} \{(\beta-p)x - \alpha\} [\xi_1, \xi_2; f] - \frac{n+p}{(n+\beta)^2} x(1-x) [\eta_1, \eta_2, \eta_3; f] \tag{8}$$

where the brackets denote divided differences and $0 \le \xi_1 < \xi_2 \le 1$, $0 \le \eta_1 < \eta_2 < \eta_3 \le 1$.

Corollary 1.1. Let $f \in C([0,1+p])$ be two times differentiable on [0,1] having the derivatives f' and f'' finite on [0,1]. Then, for any $x \in [0,1]$ there exist $\xi, \eta \in [0,1]$ such that:

$$\left(\tilde{R}_{n,p}^{(\alpha,\beta)}f\right)(x) = \frac{1}{n+\beta} \{(\beta-p)x - \alpha\}f'(\xi) - \frac{n+p}{2(n+\beta)^2}x(1-x)f''(\eta). \tag{9}$$

Let $\alpha = \beta = 0$ and $p \in N_0$. Then, the approximation formula (7) becomes the following Schurer's approximation formula:

$$f = \tilde{B}_{n,n}f + \tilde{R}_{n,n}f. \tag{10}$$

As a consequence of Theorem 1.1. and Corollary 1.1., it follows:

Corollary 1.2. i) For any $f \in C([0, 1 + p])$ and any $x \in [0, 1]$ the remainder term of (10) can be represented under the form:

$$\left(\tilde{R}_{n,p}f\right)(x) = -\frac{px}{n}[\xi_1, \xi_2; f] - \frac{n+p}{n^2}x(1-x)[\eta_1, \eta_2, \eta_3; f]$$
(11)

where $0 \le \xi_1 < \xi_2 \le 1$ and $0 \le \eta_1 < \eta_2 < \eta_3 \le 1$.

ii) Let $f \in C([0, 1 + p])$ be two times differentiable on [0, 1] having the derivatives f' and f'' finite on [0, 1]. Then, for any $x \in [0, 1]$ there exist $\xi, \eta \in [0, 1]$ such that:

$$\left(\tilde{R}_{n,p}f\right)(x) = -\frac{px}{n}f'(\xi) - \frac{n+p}{2n^2}x(1-x)f''(\eta). \tag{12}$$

For p = 0, the approximation formula (7) becomes the Stancu's approximation formula:

$$f = S_n^{(\alpha,\beta)} f + R_n^{(\alpha,\beta)} f. \tag{13}$$

As a consequence of Theorem 1.1. and Corollary 1.1., it follows:

Corollary 1.3. i) For any $f \in C([0,1])$ and any $x \in [0,1]$ the remainder term of Stancu's approximation formula (13) can be expressed under the form:

$$(R_n^{(\alpha,\beta)}f)(x) = \frac{1}{n+\beta} \{\beta x - \alpha\} [\xi_1, \xi_2; f] - \frac{n}{(n+\beta)^2} x(1-x) [\eta_1, \eta_2, \eta_3; f], \tag{14}$$

where $0 \le \xi_1 < \xi_2 \le 1$ and $0 \le \eta_1 < \eta_2 < \eta_3 \le 1$.

ii) Let $f \in C([0,1])$ be two times differentiable on [0,1] having the derivatives f' and f'' finite on [0,1]. Then, for any $x \in [0,1]$ there exist $\xi, \eta \in [0,1]$ such that:

$$(R_n^{(\alpha,\beta)}f)(x) = \frac{1}{n+\beta} \{\beta x - \alpha\} f'(\xi) - \frac{n}{2(n+\beta)^2} x(1-x)f''(\eta).$$
 (15)

Suppose that $\alpha=\beta=0$ and p=0. In this case we get the classical Bernstein's approximation formula:

$$f = B_n f + R_n f. (16)$$

As a consequence of Theorem 1.1. and Corollary 1.1., for approximation formula (16) we get the result obtained by Tiberiu Popoviciu contained in:

Corollary 1.4. [8]

i) For any $f \in C([0,1])$ and any $x \in [0,1]$, the remainder term of (16) can be represented under the form:

$$(R_n f)(x) = -\frac{1}{n} x(1-x)[\xi_1, \xi_2, \xi_3; f], \tag{17}$$

where $0 \le \xi_1 < \xi_2 < \xi_3 \le 1$.

It is well known the following estimation of the remainder term of (16), [16].

ii) Let $f \in C([0,1])$ be two times differentiable on [0,1] having the derivatives f' and f'' finite on [0,1]. Then, for any $x \in [0,1]$ there exists $\xi \in [0,1]$ such that, the following inequality:

$$|(R_n f)(x)| \le \frac{1}{2n} x(1-x) M_2[f]$$
 (18)

holds, where:

$$M_2[f] = \max_{x \in [0,1]} |f''(x)|. \tag{19}$$

2 quadrature formulas based on the operator $\tilde{S}_{n,p}^{(\alpha,\beta)}$

Let $f \in C([0, 1+p])$ be given and let

$$\int_{0}^{1} f(x)dx = \sum_{k=0}^{n+p} A_{n+p,k}^{(\alpha,\beta)} f\left(\frac{k+\alpha}{n+\beta}\right) + r_{n,p}^{(\alpha,\beta)}(f)$$
 (20)

be the Schurer-Stancu type quadrature formula [3], where the coefficients are expressed by:

$$A_{n+p,k}^{(\alpha,\beta)} = \frac{1}{n+p+1}$$
 (21)

for any $k = \overline{0, n+p}$.

Lemma 2.1. [5] Let $e_i(x) = x^j$ (j non-negative integer) be the test monomials. The following identities:

$$r_{n,p}^{(\alpha,\beta)}(e_0) = 0;$$
 (22)

$$r_{n,p}^{(\alpha,\beta)}(e_1) = \frac{\beta - 2\alpha - p}{2(n+\beta)};\tag{23}$$

$$r_{n,p}^{(\alpha,\beta)}(e_2) = \frac{2(\beta - p)(2n + \beta + p) - (n+p)(6\alpha + 1) - 6\alpha^2}{6(n+\beta)^2},$$
(24)

hold.

Remark 2.1. i) In general $r_{n,p}^{(\alpha,\beta)}(e_1) \neq 0$, i. e., the degree of exactness of (20) is 0. ii) For $\beta = 2\alpha + p$, yield $r_{n,p}^{(\alpha,2\alpha+p)}(e_1) = 0$, $r_{n,p}^{(\alpha,2\alpha+p)}(e_2) \neq 0$, i. e., (20) has the degree of exactness 1.

In what follows, we are dealing with the Schurer-Stancu quadrature formula having the degree of exactness 1, i. e., with the following quadrature formula:

$$\int_{0}^{1} f(x)dx = \frac{1}{n+p+1} \sum_{k=0}^{n+p} f\left(\frac{k+\alpha}{n+p+2\alpha}\right) + r_{n,p}^{(\alpha,2\alpha+p)}(f).$$
 (25)

Theorem 2.1. [5] If

- i) $f \in C([0, 1+p]) \cap C^2([0, 1]);$
- ii) $\beta = 2\alpha + p$ and $n + p > 4\alpha^2$, the remainder term of Schurer-Stancu quadrature formula (25) can be represented under the form:

$$r_{n,p}^{(\alpha,2\alpha+p)}(f) = \frac{(2\alpha-1)n + 2\alpha^2 + (2\alpha-1)p}{12(n+p+2\alpha)^2} f''(\xi), \tag{26}$$

where $\xi \in]0,1[$.

Remark 2.2. The minimum value of the remainder term of the quadrature formula (25) is obtained for $\alpha = \frac{1}{2}$.

Theorem 2.2. [5] If

- i) $f \in C([0, 1+p]) \cap C^2([0, 1]);$
- ii) $n+p>4\alpha^2$, the optimal quadrature formula of Schurer-Stancu type is the following:

$$\int_{0}^{1} f(x)dx = \frac{1}{n+p+1} \sum_{k=0}^{n+p} f\left(\frac{2k+1}{2n+2p+2}\right) + \frac{1}{24(n+p+1)^2} f''(\xi). \tag{27}$$

Remark 2.3. i) For $\alpha = \beta = 0$ and $p \neq 0$, form (20) we get the Schurer quadrature formula:

$$\int_{0}^{1} f(x)dx = \frac{1}{n+p+1} \sum_{k=0}^{n+p} f\left(\frac{k}{n}\right) + r_{n,p}(f).$$
 (28)

ii) For p = 0, from (20) we get the Stancu quadrature formula:

$$\int_{0}^{1} f(x)dx = \frac{1}{n+1} \sum_{k=0}^{n} f\left(\frac{k+\alpha}{n+\beta}\right) + r_n^{(\alpha,\beta)}(f).$$
 (29)

iii) For p = 0, from (27) we get the Stancu's optimal quadrature formula:

$$\int_{0}^{1} f(x)dx = \frac{1}{n+1} \sum_{k=0}^{n} f\left(\frac{2k+1}{2n+2}\right) + \frac{1}{24(n+1)^{2}} f''(\xi). \tag{30}$$

3 The composite Bernstein type quadrature formula

Starting with the Bernstein approximation formula (16) in [16] the following Bernstein quadrature formula:

$$\int_{0}^{1} f(x)dx = \sum_{j=0}^{n} A_j f\left(\frac{j}{n}\right) + R_n[f]$$
(31)

is obtained, where

$$A_j = \frac{1}{n+1}, \ (\forall) \ j = \overline{0,n}$$
 (32)

and

$$|R_n[f]| \le \frac{1}{12n} M_2[f]. \tag{33}$$

The focus of this section is to construct the composite Bernstein type quadrature formula. For this aim, the interval [0,1] will be divided in m equally spaced subintervals $\left[\frac{k-1}{m},\frac{k}{m}\right]$, $k=\overline{1,m}$. Each interval at his turn will be divided in $n_k, k=\overline{1,m}$ subintervals. On each such type of interval $\left[\frac{k-1}{m},\frac{k}{m}\right]$, $k=\overline{1,m}$, with corresponding knots $n_k+1, k=\overline{1,m}$, the Bernstein quadrature formula (31) will be applied. Next, adding the mentioned quadrature formulas the desired Bernstein type quadrature formula on interval [0,1] will be obtained. Let [a,b] be real interval, which in n_p equally spaced subintervals will be divided. We start with two auxilliary results.

Lemma 3.1. Suppose that $a, b \in \mathbb{R}$, a < b and $f \in C([a, b])$. Then, the Bernstein polynomial associated to the function f is defined by:

$$(B_{n_p}f)(x) = \frac{1}{(b-a)^{n_p}} \sum_{j=0}^{n_p} \binom{n_p}{j} (x-a)^j (b-x)^{n_p-j} f\left(a+j\frac{b-a}{n_p}\right). \tag{34}$$

Proof. It is easy to observe that the correspondence $t \to \frac{x-a}{b-a}$ transform the interval [a, b] in the interval [0, 1]. Taking (5), (6) and the above remark into account, yields (34).

Lemma 3.2. Suppose that $a, b \in \mathbb{R}$, a < b and $f \in C^2([a, b])$. Then, the remainder term of the Bernstein approximation formula on [a, b] verifies the inequality:

$$|(R_{n_p}f)(x)| \le \frac{(x-a)(b-x)}{2n_p(b-a)^2} M_2[f]$$
(35)

where $M_2[f] = \max_{x \in [a,b]} |f''(x)|$.

Proof. One applies (18), taking the transformation $t \to \frac{x-a}{b-a}$ into account.

In what follows, let us to consider the interval [0,1] divided in the equally spaced subintervals $\left[\frac{k-1}{m},\frac{k}{m}\right]$, $k=\overline{1,m}$. Each interval at his turn will be divided in n_k , $k=\overline{1,m}$ subintervals. In each interval $\left[\frac{k-1}{m},\frac{k}{m}\right]$ one considers the distinct knots $x_j=\frac{kn_k-n_k+j}{mn_k}$, $j=\overline{0,n_k}$. Applying Lemma 3.1., yields the following Bernstein type polynomial:

$$(B_{n_k}f)(x) = m^{n_k} \sum_{j=0}^{n_k} \binom{n_k}{j} \left(x - \frac{k-1}{m}\right)^j \left(\frac{k}{m} - x\right)^{n_k - j} f\left(\frac{kn_k - n_k + j}{mn_k}\right).$$
(36)

The corresponding Bernstein type approximation formula on the interval $\left[\frac{k-1}{m}, \frac{k}{m}\right]$ becomes:

$$f = B_{n_k} f + R_{n_k} f. (37)$$

If $f \in C^2([0,1])$, the remainder term of (37) verifies the inequality:

$$|(R_{n_k}f)(x)| \le \frac{\left(x - \frac{k-1}{m}\right)\left(\frac{k}{m} - x\right)}{2n_k} m^2 M_2[f]$$
 (38)

where $M_2[f] = \max_{x \in [a,b]} |f''(x)|$.

Theorem 3.1. If $f \in C^2([0,1])$, the following Bernstein type quadrature formula

$$\int_{\frac{k-1}{m}}^{\frac{k}{m}} f(x)dx = \sum_{j=0}^{n_k} A'_j f\left(\frac{kn_k - n_k + j}{mn_k}\right) + R'_{n_k}[f]$$
(39)

holds, for any $k = \overline{1, m}$, where

$$A'_{j} = \frac{1}{m(n_k + 1)}, \ (\forall) \ j = \overline{0, n_k}$$
 (40)

and

$$|R'_{n_k}[f]| \le \frac{1}{12mn_k} M_2[f]. \tag{41}$$

Proof. Integrating (37) on $\left[\frac{k-1}{m}, \frac{k}{m}\right]$ and taking (36) into account, yields:

$$A'_{j} = m^{n_{k}} \binom{n_{k}}{j} \int_{\frac{k-1}{m}}^{\frac{\kappa}{m}} \left(x - \frac{k-1}{m}\right)^{j} \left(\frac{k}{m} - x\right)^{n_{k}-j} dx$$

$$= m^{n_{k}} \binom{n_{k}}{j} \int_{0}^{1} \left(\frac{t}{m}\right)^{j} \left[\frac{1}{m}(1-t)\right]^{n_{k}-j} \frac{1}{m} dt$$

$$= \frac{1}{m} \binom{n_{k}}{j} \int_{0}^{1} t^{j} (1-t)^{n_{k}-j} dt.$$

The last integral is the Euler function of first kind $B(j+1, n_k - j + 1)$. Taking the well known properties of Euler function of first kind into account, it follows:

$$A'_{j} = \frac{1}{m} \binom{n_{k}}{j} B(j+1, n_{k}-j+1) = \frac{1}{m} \frac{n_{k}!}{j!(n_{k}-j)!} \frac{j!(n_{k}-j)!}{(n_{k}+1)!} = \frac{1}{m(n_{k}+1)}.$$

For the remainder term, taking (38) into account, we get:

$$|R'_{n_k}[f]| \le M_2[f] \frac{m^2}{2n_k} \int_{\frac{k-1}{m}}^{\frac{k}{m}} \left(x - \frac{k-1}{m}\right) \left(\frac{k}{m} - x\right) dx.$$
 (42)

But
$$\int_{\frac{k-1}{m}}^{\frac{k}{m}} (x - \frac{k-1}{m}) (\frac{k}{m} - x) dx = \frac{1}{6m^3}$$
 and from (42) one arrives to the desired inequality (41).

Theorem 3.2. For any $f \in C^2[0,1]$, the following composite Bernstein type quadrature formula

$$\int_{0}^{1} f(x)dx = \frac{1}{m} \sum_{k=1}^{m} \sum_{j=0}^{n_k} \frac{1}{n_k + 1} f\left(\frac{kn_k - n_k + j}{mn_k}\right) + R_{n_m}[f]$$
(43)

holds, where

$$|R_{n_m}[f]| \le \frac{1}{12m} M_2[f] \sum_{k=1}^m \frac{1}{n_k}.$$
 (44)

Proof. Adding the Bernstein type quadrature formulas (39) for $k = \overline{1, m}$, we get the following composite Bernstein type quadrature formula:

$$\int_{0}^{1} f(x)dx = \frac{1}{m} \sum_{k=1}^{m} \sum_{j=0}^{n_k} f\left(\frac{kn_k - n_k + j}{mn_k}\right) + \sum_{k=1}^{m} R'_{n_k}[f].$$
 (45)

Denoting $R_{n_m}[f] = \sum_{k=1}^m R'_{n_k}[f]$ and taking (41) into account, yields:

$$|R_{n_m}[f]| \le \sum_{k=1}^m |R'_{n_k}[f]| \le \frac{1}{12m} M_2[f] \sum_{k=1}^m \frac{1}{n_k}.$$
 (46)

References

- [1] Agratini, O., Aproximarea prin operatori liniari, Presa Universitară Clujeană, (2000), (Romanian)
- [2] Bărbosu, D., Schurer-Stancu type operators, Studia Univ. "Babeş-Bolyai", XLVIII (2003), No. 3, 31-35
- [3] Bărbosu, D., On the Schurer-Stancu approximation formula, Carpathian J. Math. 21 (2005), No. 1-2, 7-12
- [4] Bărbosu, D., Polynomial approximation by means of Schurer-Stancu type operators, Ed. Univ. de Nord, Baia Mare (2006)
- [5] Bărbosu, D., A Schurer-Stancu type quadrature formula, Carpathian J. Math. 23 (2007), No. 1-2, 27-31
- [6] Bărbosu, D., and Miclăuş, D., On the composite Bernstein type quadrature formula, submitted
- [7] Bernstein, S. N., Demonstration du théorème de Weierstrass fondée sur le calcul des probabilités, Common. Soc. Math. Kharkhow (2), **13** (1912-1913), 1-2
- [8] Popoviciu, T., Sur le reste dans certains formules lineaires d'approximation de l'analyse, Mathematica I(24) (1959), 95-142
- [9] Schurer, F., Linear positive operators in approximation theory, Math. Inst. Techn. Univ. Delft: Report, 1962
- [10] Stancu, D. D., On the remainder term in approximation formulas by Bernstein polynomials, Notices, Amer. Math. Soc. 9, 26 (1962)
- [11] Stancu, D. D., Evaluation of the remainder term in approximation formulas by Bernstein polynomials, Math. Comput., 17 (1963), 270-278
- [12] Stancu, D. D., Approximation of functions by a new class of linear polynomial operators, Rev. Roum. Math. Pures et Appl., 13 (1968), No. 8, 1173-1194
- [13] Stancu, D. D., A note on the remainder in a polynomial approximation formula, Studia Univ. "Babeş-Bolyai", Mathematica **XLI** (1996), 95-101

- [14] Stancu, D. D., On the use of devided differences in the investigation of interpolatory positive linear operators, Studia Scient. Math. Hungarica **XXXV** (1996), 65-80
- [15] Stancu, D. D., Approximation properties of a class of multiparameter linear operators, in Approximation and Optimization, Proceed. of ICAOR (International Conference on Approximation and Optimization (Romania), Cluj-Napoca, July 29 August 1, 1996), ed. by D. D. Stancu, Gh. Coman, W. Breckner, P. Blaga, I, Transilvania Press, Cluj-Napoca, Romania (1997), 107-120
- [16] Stancu, D. D., Coman, Gh., Blaga, P., Analiză numerică și teoria aproximării, II (Romanian), Presa Universitară Clujeană, 2002
- [17] Stancu, D. D., Vernescu, A., On some remarkable positive polynomial operators of approximation, Rev.Anal. Numer. Theor. Approx., 28 (1999), 85-95

Manuscript received: 16.03.2009 / accepted: 20.08.2009